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Which of these does not go with all the others?

?  to switch on
ANO a book

? alight

? ashadow

? electricity

r)

What does a dentist do to a bad tooth?

take it in
take it away
take it off
take it over

. ANO take it out

One child, but two

?  childs'
ANO children

? childer

?  child's

?  child

?
?
?
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Which of these you do not use to make a cake?

.7 sugar

. ANO iron
?  flour
? currants
? margarine

Which of these can you read?

a library
a bookshelf
a picture

. ANO a dictionary

a film

e Which of these is cold?
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? steam

?  heat

7 fire
.7 flame
. ANO ice



